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!B. M. Herman et. al.,“Numerical technique for solving the radiative transfer equation for a spherical
shell atmosphere”, Appl. Opt. 33, 1760-1770 (1994)
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r = —ssinf

= Ztop — ScOsl
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0
z = rcosl. = zyp — scosl
—x = rsinf, = ssinf
sat 42t = rP=ssin?0 + thOp — 2240p5 €08 0 + 52 cos? 0
coro= /s + 28, — 2z0p5 cOS O (3.2)

Ztop — S COS 0

) (3.3)
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.0, = arccos(
,

I,(0,s+ As) =1,(0,s) + [B,(T(r(s))) — I,(0, )] o,c(r(s))As (3.4)
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Eouterspace—radiation = / // I+ (0) cos 0 sin 0dOdpdS
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/2

= 87r2zt20p/ I, (0) cosOsinHdo (3.5)
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optical depth T = — In(Transmittance) = ocl
Pressure=1013.25mb
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C(Z) = CAtmosphere(Z) % 0.0004 (37)

00000000 camosphere(z) 00000000400ppmv000000000CO20
000000000000 000000000000MO00000000000000
00000MO00000CO200000000000000000000 p(z)000
000 Moamosphere 00000 0 (Moamosphere = {28.014 x 78.084%(Na) + 32.00 x
20.946%(02) + 39.948 x 0.934%(Ar)}/0.99964 = 28.96)

cAtmosphere(Z) = p(z)/MOAtmosphere (38)
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RT = cAtmosphere(Z)RT(Z) (39)
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CAtmosphere(Z) = (p(z)/MOAtmosphere) = P(Z)/RT(Z) (310)
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dP(z) = p(z)dz (3.11)

P(z)  (ro+2)? RT(2)

dP(Z) _ GMearth MOAtmosphere

dz (3.12)
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